
Malli

TOUA

Vuosi

2011

PR

Kohta Osanumero Nimike Kpl Malli

1

AR

21

Kuva

121-003

Rajaaminen UPD

1386

Huomautus

Sivu: 001 EPIS 693

Vesipumppu
Termostaatti

3,0-litr. 6-syl.+
Bens.moot.+
CGEA,CGFA,
CJTA

   1   06E 121 018 F Vesipumppu
alipaineliitännällä
D             >> - 01.03.2010

1 CGEA,CGFA

   1   06E 121 018 N Vesipumppu
alipaineliitännällä
D - 01.03.2010>> - 01.04.2010

1 CGEA,CGFA

  (1)  06E 121 018 K Vesipumppu
alipaineliitännällä
D - 01.04.2010>>

1 CGEA,CGFA

  (1)  06E 121 018 K Vesipumppu
alipaineliitännällä

1 CGEA,CGFA

  (1)  06E 121 018 D Vesipumppu
liimatulla tiivisteellä

1 CJTA

   2   N   910 717 01 Litteäkanta-kuusiokolopultti M6X25 7

   3   06E 121 031 C Kiilahihnapyörä 1 CGEA,CGFA

  (3)  06E 121 031 F Kiilahihnapyörä 1 CJTA

   4   N   910 522 01 Monikolo-laippapultti M8X12 3

   7   06E 121 111 AD Termostaatti 1

   8   N   910 680 01 Litteäkanta-kuusiokolopultti M6X28 7

  11   06E 121 161 AN Kansi liitoskappaleineen alumiinia 1

  12   06E 121 139 H Muototiiviste 1

  13   N   910 717 01 Litteäkanta-kuusiokolopultti M6X25 6

et_bt1.frm


